

On the M-Projective Curvature Tensor of P-Sasakian Manifolds

A. Taleshian¹ and N. Asghari²

¹Department of Mathematics, Faculty of Sciences, University of Mazandaran,
P.O.Box 47416-1467, Babolsar, Iran.

E-mail: taleshian@umz.ac.ir

²Department of Mathematics, Faculty of Sciences, University of Mazandaran,
P.O.Box 47416-1467, Babolsar, Iran.

E-mail: nasgharigm2009@yahoo.com

Received August 06, 2012; accepted November 18, 2012

ABSTRACT

The present paper deals with Para Sasakian manifolds with m-projective curvature tensor.

Keywords: P-Sasakian manifold, m-projective curvature tensor, concircular curvature tensor, η -Einstein manifold.

AMS Mathematics Subject Classification (2010):

1. Introduction

Sat \bar{o} [6, 7] introduced the notion of an almost para contact structure, either P-Sasakian or SP-Sasakian, and gave a lot of very interesting results about such manifolds. In [3] Bhagwat Prasad define and studied a tensor field on Riemannian manifold of dimension n , called the pseudo projective curvature tensor which in a particular case becomes a projective curvature tensor.

In this paper, we investigate the properties of the P-Sasakian manifold equipped with m-projective curvature tensor. An n -dimensional P-Sasakian manifold is said to be m-projectively flat if $\bar{P} = 0$, where \bar{P} is the m-projective curvature tensor.

We show that m-projectively flat Para-Sasakian manifold is an Einstein manifold. Also we prove that an n -dimensional m-projectively flat P-Sasakian manifold is locally isometric with the Hyperbolic $H^n(-1)$.

Next, we investigate φ -m-projectively flat P-Sasakian manifold. A. Yildiz and M. Turan [2] studied the same condition on α -Sasakian manifold. We prove that φ -m-projectively flat P-Sasakian manifold is an η -Einstein manifold. Then we study P-Sasakian manifold in with $\tilde{C}(\xi, X). \bar{P} = 0$, where \tilde{C} is a concircular curvature tensor.

In this case, we show that either manifold has scalar curvature $r = n(n-1)$ or manifold is locally isometric with the Hyperbolic $H^n(-1)$.

Finally, we study an n -dimensional P-Sasakian manifold satisfying $R(X, Y) \cdot \bar{P} = 0$ and we prove that such manifold is locally isometric with the Hyperbolic $H^n(-1)$.

2. Preliminaries

Let M be an n -dimensional contact manifold with contact form η , i.e,

$\eta \wedge (d\lambda)^n \neq 0$. It is well known that a contact manifold admits a vector field ξ ,

called the characteristic vector field, such that $\eta(\xi) = 1$ and $\eta(\xi) = 1$ for every

$X \in \chi(M)$. Moreover, M admits a Riemannian metric g and a tensor field φ of

type $(1,1)$ such that [6, 9]

$$\varphi^2 = I - \eta \otimes \xi, \quad (2.1)$$

$$g(X, \xi) = \eta(X), \quad (2.2)$$

$$g(X, \varphi Y) = d\eta(X, Y). \quad (2.3)$$

We then say that (φ, η, ξ, g) is a contact metric structure. A contact metric

manifold is said to be a Sasakian if

$$(\nabla_X \varphi)Y = g(X, Y)\xi - \eta(Y)X, \quad (2.4)$$

In which case

$$\nabla_X \xi = -\varphi X, \quad R(X, Y)\xi = \eta(Y)X - \eta(X)Y, \quad (2.5)$$

for all vector fields X, Y on M . Now, we give a structure similar to Sasakian but not having contact.

An n -dimensional differentiable manifold M is said to admit an almost para contact Riemannian structure (φ, η, ξ, g) such that [5, 6, 9]

$$\varphi \xi = 0, \quad \eta(\varphi) = 0, \quad \eta(\xi) = 1, \quad (2.6)$$

$$g(\xi, X) = \eta(X), \quad \varphi^2 X = X - \eta(X)\xi, \quad (2.7)$$

$$g(\varphi X, \varphi Y) = g(X, Y) - \eta(X)\eta(Y), \quad (2.8)$$

for all vector fields X, Y on M . The equation $\eta(\xi) = 1$ equivalent to $|\eta| \equiv 1$, then ξ is just the metric dual of η . If (φ, η, ξ, g) satisfy the equations

$$d\eta = 0, \quad \nabla_X \xi = \varphi X, \quad (2.9)$$

$$(\nabla_X \varphi)Y = -g(X, Y)\xi - \eta(Y)X + 2\eta(X)\eta(Y)\xi, \quad (2.10)$$

then M is called Para-Sasakian manifold or briefly, P-Sasakian manifold.

Especially a P-Sasakian manifold is called a special para-Sasakian manifold or briefly, a SP-Sasakian manifold if

$$(\nabla_X \eta)Y = -g(X, Y) + \eta(X)\eta(Y). \quad (2.11)$$

Also, a P-Sasakian manifold M is said to be η -Einstein manifold if its Ricci tensor is of the form

On the m-projective curvature tensor of P-Sasakian manifolds

$$S(X, Y) = ag(X, Y) + b\eta(X)\eta(Y), \quad (2.12)$$

For any vector fields X, Y, where a and b are function on M .

If $b = 0$, then η -Einstein manifold to becomes an Einstein manifold.

Further, on such an n-dimensional P-Sasakian manifold the following relations hold [1,4, 6, 9]

$$g(R(X, Y)Z, \xi) = \eta(R(X, Y)Z) = g(X, Z)\eta(Y) - g(Y, Z)\eta(X), \quad (2.13)$$

$$Q\xi = -(n-1)\xi, \quad (2.14)$$

$$R(X, Y)\xi = \eta(X)Y - \eta(Y)X, \quad (2.15)$$

$$R(\xi, X)Y = \eta(Y)X - g(X, Y)\xi, \quad (2.16)$$

$$R(\xi, X)\xi = X - \eta(X)\xi, \quad (2.17)$$

$$S(X, \xi) = -(n-1)\eta(X), \quad (2.18)$$

$$S(\varphi X, \varphi Y) = S(X, Y) + (n-1)\eta(X)\eta(Y), \quad (2.19)$$

for any vector fields X, Y, Z, where $R(X, Y)Z$ is the curvature tensor and S is the Ricci tensor.

Definition 2.1. The M-projective curvature tensor \bar{P} is defined as

$$\begin{aligned} \bar{P}(X, Y)Z = R(X, Y)Z - \frac{1}{2(n-1)}[S(Y, Z)X - S(X, Z)Y \\ + g(Y, Z)QX - g(X, Z)QY], \end{aligned} \quad (2.20)$$

for all vector fields X, Y, Z on M [3]. Where Q is the Ricci operator defined by

$S(X, Y) = g(QX, Y)$. The manifold is said to be m-projectively flat if \bar{P} vanishes identically on M .

Definition 2.2. The concircular curvature tensor \tilde{C} on P-Sasakian manifold M of dimensional n is defined by

$$\tilde{C}(X, Y)Z = R(X, Y)Z - \frac{r}{n(n-1)}[g(Y, Z)X - g(X, Z)Y] \quad (2.21)$$

for all vector fields X, Y, Z on M .

Definition 2.3. An n -dimensional, ($n > 3$), P-Sasakian manifold satisfying the condition

$$\varphi^2 \bar{P}(\varphi X, \varphi Y)\varphi Z = 0 \quad (2.22)$$

is called φ -m-projectively flat manifold.

3. Main Results

In this section, we prove the following theorems:

Theorem 3.1. An n-dimensional m-projectively flat P-Sasakian manifold is locally isometric to the Hyperbolic $H^n(-1)$.

Proof. If $\bar{P} = 0$ then we get from (2.20) that

$$R(X, Y)Z = \frac{1}{2(n-1)}[S(Y, Z)X - S(X, Z)Y + g(Y, Z)QX - g(X, Z)QY]. \quad (3.1)$$

Putting $Z = \xi$ in (2.21) and using (2.7), (2.15) and (2.18) we obtain

$$\eta(X)Y - \eta(Y)X = \frac{1}{2(n-1)}[-(n-1)\eta(Y)X + (n-1)\eta(X)Y + \eta(Y)QX - \eta(X)QY]. \quad (3.2)$$

Taking $Y = \xi$ in (3.2) and using (2.6) we have

$$\eta(X)\xi - X = \frac{1}{2(n-1)}[-(n-1)X + (n-1)\eta(X)\xi + QX + (n-1)\eta(X)\xi].$$

Therefore with simplify of the above equation we get

$$QX = -(n-1)X. \quad (3.3)$$

Now, putting (3.3) in (3.1) we obtain

$$R(X, Y)Z = \frac{1}{2(n-1)}[S(Y, Z)X - S(X, Z)Y - (n-1)g(Y, Z)X + (n-1)g(X, Z)Y],$$

putting $X = \xi$ and using (2.16) and (2.18) we get

$$\eta(Z)Y - g(Y, Z)\xi = \frac{1}{2(n-1)}[S(Y, Z)\xi + (n-1)\eta(Z)Y - (n-1)g(Y, Z)\xi + (n-1)\eta(Z)Y],$$

with simplify of the above equation we obtain

$$S(Y, Z) = -(n-1)g(Y, Z). \quad (3.4)$$

thus the manifold is an Einstein manifold.

Now, putting (3.3) and (3.4) in (3.1) we have

$$R(X, Y)Z = \frac{1}{2(n-1)}[-(n-1)g(Y, Z)X + (n-1)g(X, Z)Y - (n-1)g(Y, Z)X + (n-1)g(X, Z)Y].$$

Finally we get

$$R(X, Y)Z = -[g(Y, Z)X - g(X, Z)Y].$$

The above equation implies that M is of constant curvature -1 and consequently it is locally isometric with the Hyperbolic $H^n(-1)$.

This completes the proof of the theorem. \square

Now, we construct an example of m-projectively flat P-Sasakian manifold which support Theorem (3.1).

On the m-projective curvature tensor of P-Sasakian manifolds

Example 1. We consider 3-dimensional manifold $M = \{(x, y, z) : (x, y, z) \in R^3\}$, where (x, y, z) are standard coordinates in R^3 . We choose the vector fields

$$E_1 = e^z \left(-\frac{\partial}{\partial x} - \frac{\partial}{\partial y} \right), \quad E_2 = -e^z \frac{\partial}{\partial y}, \quad E_3 = -\frac{\partial}{\partial z},$$

which are linearly independent at each point of M . Let g be the Riemannian metric defined by

$$\begin{aligned} g(E_1, E_2) &= g(E_2, E_3) = g(E_3, E_1) = 0 \\ g(E_1, E_1) &= g(E_2, E_2) = g(E_3, E_3) = 1. \end{aligned}$$

Let η be a 1-form defined by $\eta(Z) = g(Z, E_3)$ for any vector field Z on M .

We define the (1,1) tensor field φ as

$$\varphi(E_1) = E_1, \quad \varphi(E_2) = E_2, \quad \varphi(E_3) = 0.$$

The linearity property of φ and g yields that

$$\begin{aligned} \eta(e_3) &= 1, \quad \varphi^2 U = -U + \eta(U)e_3 \\ g(\varphi U, \varphi W) &= g(U, W) - \eta(U)\eta(W), \end{aligned}$$

for any vector fields U, W, Z on M .

Thus for $E_3 = \xi$, (φ, η, ξ, g) defines an almost para contact structure on M .

Let ∇ be the Levi-Civita connection with respect to g , then for any $f \in C^\infty(R^3)$ we have

$$\begin{aligned} [E_1, E_2] &= E_1(E_2 f) - E_2(E_1 f) \\ &= e^z \left(-\frac{\partial}{\partial x} - \frac{\partial}{\partial y} \right) \left(-e^z \frac{\partial f}{\partial y} \right) - \left(-e^z \frac{\partial}{\partial y} \right) \left(-e^z \frac{\partial f}{\partial x} - e^z \frac{\partial f}{\partial y} \right) \\ &= 0. \end{aligned}$$

Similarly we obtain $[E_1, E_3] = E_1$, $[E_2, E_3] = E_2$.

Using the Koszuls formula

$$\begin{aligned} 2g(\nabla_X Y, Z) &= \nabla_X g(Y, Z) + \nabla_Y g(Z, X) - \nabla_Z g(X, Y) \\ &\quad + g([X, Y], Z) - g([Y, Z], X) + g([Z, X], Y), \end{aligned}$$

we have

$$\begin{aligned} 2g(\nabla_{E_1} E_1, E_3) &= -g(E_1, E_1) + g(-E_1, E_1) \\ &= -2g(E_1, E_1), \end{aligned}$$

therefore $\nabla_{E_1} E_1 = -E_3$. Similarly, it follows that

$$\begin{aligned} \nabla_{E_1} E_2 &= 0, \quad \nabla_{E_1} E_3 = E_1, \quad \nabla_{E_2} E_1 = 0, \quad \nabla_{E_2} E_2 = -E_3 \\ \nabla_{E_2} E_3 &= E_2, \quad \nabla_{E_3} E_1 = 0, \quad \nabla_{E_3} E_2 = 0, \quad \nabla_{E_3} E_3 = 0. \end{aligned}$$

From the above, it can be easily seen that (φ, η, ξ, g) is a P-Sasakian structure on M . Hence M is a 3-dimensional P-Sasakian manifold.

Now, using the formula

$$R(X, Y)Z = \nabla_X \nabla_Y Z - \nabla_Y \nabla_X Z - \nabla_{[X, Y]} Z,$$

we can easily calculate the non-vanishing components of the curvature tensor as follows

$$\begin{aligned} R(E_1, E_2)E_2 &= \nabla_{E_1} \nabla_{E_2} E_2 - \nabla_{E_2} \nabla_{E_1} E_2 - \nabla_{[E_1, E_2]} E_2 \\ &= -E_1 \end{aligned}$$

Similarly,

$$\begin{aligned} R(E_1, E_3)E_3 &= -E_1, \quad R(E_2, E_1)E_1 = E_2, \quad R(E_2, E_3)E_3 = -E_2 \\ R(E_3, E_1)E_1 &= -E_3, \quad R(E_3, E_2)E_2 = -E_3, \quad R(E_3, E_2)E_3 = -E_2. \end{aligned}$$

The above relations implies that M is of constant curvature -1.

The definition of Ricci tensor in 3-dimensional manifold implies that

$$S(X, Y) = \sum_{i=1}^3 g(R(E_i, X)Y, E_i).$$

From the above relation we can calculate the non-vanishing components of Ricci tensor S as follows

$$\begin{aligned} S(E_1, E_1) &= \sum_{i=1}^3 g(R(E_i, E_1)E_1, E_i) \\ &= g(R(E_1, E_1)E_1, E_1) + g(R(E_2, E_1)E_1, E_2) \\ &\quad + g(R(E_3, E_1)E_1, E_3) \\ &= -2, \end{aligned}$$

therefore $S(E_1, E_1) = -2$. Similarly we get

$$S(E_2, E_2) = -2, \quad S(E_3, E_3) = -2$$

We know that the scalar curvature of the 3-dimensional manifold is given by

$$r = \sum_{i=1}^3 S(E_i, E_i).$$

In view of above relations, it follows that for all vector fields $X, Y \in \chi(M)$ the scalar curvature of the manifold is equal to -6 and the Ricci tensor

$$S(X, Y) = -2g(X, Y).$$

Also, $QX = -2X$. Now, in view of (2.20) we have

$$\begin{aligned} \bar{P}(E_1, E_3)E_3 &= R(E_1, E_3)E_3 - \frac{1}{2}[S(E_3, E_3)E_1 - S(E_1, E_3)E_3 \\ &\quad + g(E_3, E_3)QE_1 - g(E_1, E_3)QE_3] \\ &= 0. \end{aligned}$$

On the m-projective curvature tensor of P-Sasakian manifolds

Similarly, for all $i, j, k = 1, 2, 3$ we obtain

$$\bar{P}(E_i, E_j)E_k = 0.$$

Therefore M is a 3-dimensional m-projectively flat P-Sasakian manifold.

Also, M is an 3-dimensional Einstein manifold whit the constant curvature -1 . \square

Theorem 3.2. Let M be an n -dimensional, ($n > 3$), φ -m-projectively flat P-Sasakian manifold. Then M is an η -Einstein manifold.

Proof. If M is φ -m-projectively flat P-Sasakian manifold then we get from (2.22) that

$$\varphi^2 \bar{P}(\varphi X, \varphi Y)\varphi Z = 0$$

this implies that

$$g(\varphi^2 \bar{P}(\varphi X, \varphi Y)\varphi Z, \varphi W) = 0$$

for any vector fields X, Y, Z and W on M . Using (2.20) we obtain

$$\begin{aligned} g(R(\varphi X, \varphi Y)\varphi Z, \varphi W) &= \frac{1}{2(n-1)} [S(\varphi Y, \varphi Z)g(\varphi X, \varphi W) \\ &\quad - S(\varphi X, \varphi Z)g(\varphi Y, \varphi W) \\ &\quad + g(\varphi Y, \varphi Z)S(\varphi X, \varphi W) \\ &\quad - g(\varphi X, \varphi Z)S(\varphi Y, \varphi W)]. \end{aligned}$$

Let $\{e_1, e_2, \dots, e_n, \xi\}$ be a local orthonormal basis of vector fields in M .

Using that $\{\varphi e_1, \varphi e_2, \dots, \varphi e_n, \xi\}$ is also a local orthonormal basis, if we put

$X = W = e_i$ in above equation and sum up with respect to i , then

$$\begin{aligned} \sum_{i=1}^{n-1} g(R(\varphi e_i, \varphi Y)\varphi Z, \varphi e_i) &= \frac{1}{2(n-1)} \sum_{i=1}^{n-1} [S(\varphi Y, \varphi Z)g(\varphi e_i, \varphi e_i) \\ &\quad - S(\varphi e_i, \varphi Z)g(\varphi Y, \varphi e_i) \\ &\quad + g(\varphi Y, \varphi Z)S(\varphi e_i, \varphi e_i) \\ &\quad - g(\varphi e_i, \varphi Z)S(\varphi Y, \varphi e_i)]. \end{aligned} \quad (3.5)$$

It can be easily verify that

$$\sum_{i=1}^{n-1} g(R(\varphi e_i, \varphi Y)\varphi Z, \varphi e_i) = S(\varphi Y, \varphi Z) + g(\varphi Y, \varphi Z), \quad (3.6)$$

$$\sum_{i=1}^{n-1} S(\varphi e_i, \varphi e_i) = r - (n-1), \quad (3.7)$$

$$\sum_{i=1}^{n-1} g(\varphi Y, \varphi e_i)S(\varphi e_i, \varphi Z) = S(\varphi Y, \varphi Z), \quad (3.8)$$

$$\sum_{i=1}^{n-1} g(\varphi e_i, \varphi e_i) = n-1. \quad (3.9)$$

So by virtue of (3.6)-(3.9) the equation (3.5) can be written as

$$S(\varphi Y, \varphi Z) + g(\varphi Y, \varphi Z) = \frac{1}{2(n-1)} [(n-1)S(\varphi Y, \varphi Z) - S(\varphi Y, \varphi Z) + (r - (n-1))S(\varphi Y, \varphi Z) - S(\varphi Y, \varphi Z)],$$

this implies that

$$S(\varphi Y, \varphi Z) = \frac{r-3(n-1)}{n+1} g(\varphi Y, \varphi Z),$$

in view of (2.6) and (2.19) we get

$$S(Y, Z) + (n-1)\eta(Y)\eta(Z) = \frac{r-3(n-1)}{n+1} [g(Y, Z) - \eta(Y)\eta(Z)].$$

Finally we obtain

$$S(Y, Z) = \frac{r-3(n-1)}{n+1} g(Y, Z) - [\frac{r-3(n-1)}{n+1} + (n+1)]\eta(Y)\eta(Z).$$

Therefore M is an η -Einstein manifold. \square

Theorem 3.3. Let M be an n -dimensional P-Sasakian manifold. Then M satisfies in condition

$$\tilde{C}(\xi, U).\bar{P} = 0$$

if and only if either M has scalar curvature $r = n(1-n)$ or M is locally isometric with the Hyperbolic $H^n(-1)$.

Proof. Since $\tilde{C}(\xi, U).\bar{P} = 0$ we have

$$\tilde{C}(\xi, U).\bar{P}(X, Y)Z = 0,$$

this implies that

$$[\tilde{C}(\xi, U).\bar{P}(X, Y)]Z - \bar{P}(\tilde{C}(\xi, U)X, Y)Z - \bar{P}(X, \tilde{C}(\xi, U)Y)Z = 0,$$

in view of (2.21) we get

$$\begin{aligned} 0 = & (-1 - \frac{r}{n(n-1)})[-\eta(\bar{P}(X, Y)Z)U + \bar{P}(X, Y, Z, U)\xi \\ & + \eta(X)\bar{P}(U, Y)Z - g(U, X)\bar{P}(\xi, Y)Z \\ & + \eta(Y)\bar{P}(X, U)Z - g(U, Y)\bar{P}(X, \xi)Z \\ & + \eta(Z)\bar{P}(X, Y)U - g(U, Z)\bar{P}(X, Y)\xi]. \end{aligned}$$

Therefore M has scalar curvature $r = n(1-n)$ or

$$\begin{aligned} 0 = & -\eta(\bar{P}(X, Y)Z)U + \bar{P}(X, Y, Z, U)\xi + \eta(X)\bar{P}(U, Y)Z \\ & - g(U, X)\bar{P}(\xi, Y)Z + \eta(Y)\bar{P}(X, U)Z - g(U, Y)\bar{P}(X, \xi)Z \end{aligned}$$

On the m-projective curvature tensor of P-Sasakian manifolds

$$+ \eta(Z)\bar{P}(X, Y)U - g(U, Z)\bar{P}(X, Y)\xi.$$

Taking the inner product of the last equation with ξ we get

$$\begin{aligned} 0 = & -\eta(\bar{P}(X, Y)Z)\eta(U) + \bar{P}(X, Y, Z, U) \\ & + \eta(X)\eta(\bar{P}(U, Y)Z) - g(U, X)\eta(\bar{P}(\xi, Y)Z) \\ & + \eta(Y)\eta(\bar{P}(X, U)Z) - g(U, Y)\eta(\bar{P}(X, \xi)Z) \\ & + \eta(Z)\eta(\bar{P}(X, Y)U) - g(U, Z)\eta(\bar{P}(X, Y)\xi). \end{aligned}$$

Finally, with simplify we get

$$\bar{P}(X, Y, Z, U) = 0,$$

which implies that M is m-projectively flat. Thus in view of Theorem(3.1), M is locally isometric with the Hyperbolic $H^n(-1)$. The converse is trivial. This completes the proof of the theorem. \square

Theorem 3.4. If an n-dimensional P-Sasakian manifold M satisfies

$$R(X, Y).\bar{P} = 0$$

then M is locally isometric with the Hyperbolic $H^n(-1)$.

Proof. If $R(X, Y).\bar{P} = 0$ then we have

$$R(X, Y).\bar{P}(U, V)W = 0,$$

for all vector fields X, Y, U, V and W on M , this implies that

$$\begin{aligned} 0 = & R(X, Y)\bar{P}(U, V)W - \bar{P}(R(X, Y)U, V)W \\ & - \bar{P}(U, R(X, Y)V)W - \bar{P}(U, V)R(X, Y)W. \end{aligned}$$

Putting $X = \xi$ and taking the inner product of the last equation with ξ , we obtain

$$\begin{aligned} 0 = & g[R(\xi, Y)\bar{P}(U, V)W, \xi] - g[\bar{P}(R(\xi, Y)U, V)W, \xi] \\ & - g[\bar{P}(U, R(\xi, Y)V)W, \xi] - g[\bar{P}(U, V)R(\xi, Y)W, \xi]. \end{aligned}$$

In view of (2.7) and (2.16) we have

$$\begin{aligned} 0 = & \bar{P}(U, V, W, Y) + \eta(Y)\eta(\bar{P}(U, V)W) \\ & - g(Y, U)\eta(\bar{P}(\xi, V)W) - \eta(U)\eta(\bar{P}(Y, V)W) \\ & + g(Y, V)\eta(\bar{P}(U, \xi)W) - \eta(V)\eta(\bar{P}(U, Y)W) \\ & + g(Y, W)\eta(\bar{P}(U, V)\xi) - \eta(W)\eta(\bar{P}(U, V)Y). \end{aligned}$$

With simplify of the above equation we obtain

$$\bar{P}(U, V, W, Y) = 0$$

Therefore M is m-projectively flat. In view of Theorem (3.1) manifold is locally isometric with the Hyperbolic $H^n(-1)$. \square

A. Taleshian and N. Asghari

Acknowledgements. The authors are highly thankful to the referee for his valuable suggestions in the improvement of the paper.

REFERENCES

1. T. Adati and Miyazawa, T. On P-Sasakian manifolds satisfying certain conditions, *Tensor*, (N.S), 33 (1979) 173-178.
2. Bhagwat Prasad, A Pseudo projective curvature tensor on a Riemannian manifolds, *Bull. Cal. Math. Soc.*, 94 (3) (2002) 163-166.
3. S.K. Chaubey and R.H. Ojha, On the m-projective curvature tensor of a Kenmotsu manifold, *Differential Geometry – Dynamical Systems*, 12 (2010) 52-60.
4. U.C. De and A. Sarkar, On type of P-Sasakian manifolds, *Math. reports*, 11(10) 2(2009) 139-144.
5. K. Matsumoto, S. Ianus and I. Mihai, T. On P-Sasakian manifolds which admit certain tensor fields. *Publ. Math. Debrecen*, 33 (1986), 61-65.
6. C. Özgür and M.M. Tripathi, On P-Sasakian manifolds satisfying certain conditions on the concircular curvature tensor, *Turk J Math.*, 31 (2007) 171-179.
7. I. Satō, On a structure similar to almost contact structures. *Tensor* (N.S.) 30 (1976) 219-224.
8. I. Satō, On a structure similar to almost contact structures, II. *Tensor* (N.S.), 31 (1977) 199-205.
9. S.S. Shukla and M.K. Shukla, On φ -symmetric P-Sasakian manifolds, *Int. J. Analysis.*, 16 (2010) 761-769.
10. A. Yildiz and M. Turan, A class of Lorenzian α -Sasakian manifolds, *Kyungpook Math. J.*, 49 (2009) 789-799.